|S535 % A 24 = U5 B g

+5VD
] 1
52 K c17
2 0lu
SWSEST U6 +5VD
_L_O/ o 1 1ia vee T &
2 iy e
GXD ERE O
e "
A sy [0 i
€ 1y CoNs
oD 4y 8
TARCT
fes
U +z|\_¥D
1 . 0
10E vee
ACE 2 140 20E RIS
Y0 1Y0
SCIK 41141 a0 17 T00R R17
WOIK —m 11 C— 5D
§ 1iam 241 RIS T00R o
SDATA I w2 e U3 +5VD
o B MR RS ‘ SAATIOPB RN Lcn
10| &o 243 100R B 1 wsaB VDD P
B 2| ciaB MUSB :
D TAHCIH SDATA O R v MU i
—+ 1 Era NC A &0
(B2 A
—] C — RI0 ‘
H“K ] —— SDAB wsBD (18 WSBD
RO [HR23 NC NC [ 100RR12
R 0] Rour DABD To0R
] R
MCIK 0 T DABD 13 Ri1 100 DAED
2] s TEST 100R —
GND GND
L
&b
BB R R S ik - HH IR B B 2%
R4
cis T00R
] -15va
206 200p 5V
5K . un
s - 6 R32 RCAL
__g,g(» o = SR
= R ek o e
ALO AT RS R 5 5
g 3K K T 150a
100 . . o Ess
10k
@b 16
L ow ou- |2
2 S S (7
] G Ve S
In Ve o]
J_ DRVI
el
RS
0
||
1]
o7 2200p
a 5 )
R33  RCAR
] 3 =
- T4 50R
uis 3
= "
ARO 2 [ a 0 . P
3 : k 2y
v ¢ L
p2 1000 24K 24K NESS34
D o NESSM 14 63
10K 10005
GND
@b u17
1 Out-  Out= §
S S 5
] G Ve [
In Ve |
J_ RIS
el




